

Missouri Department of Transportation Contractor's Pay Estimate Summary

October 3, 2022

Pay Estimate Created Date: October 17, 2022

Progress Estimate N			220520-F06 N.B. West Contract	ing Compa	Pay Period Start See any Pay Period End Oct		te Original Contract Amor 2022 Net Change Order Amo Current Contract Amou	ount \$12,060.41			
Approval Date											
October 17, 2022	Generated and Approved (and should be considered Draft) at the Project Office Level by										
October 18, 2022	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by										
October 19, 2022	Reviewed and Approved at the Central Office Controllers Office Level by										
Original Completio	Current Cor	mpletion Date	Actu	ial Completion Date	of Current Contract Amoun	unt Complete					
November 1, 20	22	Novemb	er 1, 2022			94.66%					
	Contract	Informational Da	tes		Milestones						
Date Description	Original	Completion Date	Current Complet	ion Date	No Milestones Exist for	Contract					
Acceptance Date											
Awarded Date	June 2, 2	2022	June 2, 2022								
Letting Date	May 20,	2022	May 20, 2022								
Notice to Proceed Date	July 5, 20	022	July 5, 2022								
Open to Traffic Date											

Contract Total Pay For Estimate No. 1									
		This Estimate	Previous	To Date					
220520-F06									
	Total Posted Items Pay	\$859,167.62	\$0.00	\$859,167.62					
	Gross Item Adjustments	\$10,565.36	\$0.00	\$10,565.36					
	Incentive	\$0.00	\$0.00	\$0.00					
	Disincentive	\$0.00	\$0.00	\$0.00					
	Liquidated Damage	\$0.00	\$0.00	\$0.00					
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00					
	•	•	\$0.00	\$869,732.98					
Contract Total Pay	able This Estimate:	\$869,732.98		· ,					

Items Paid This Estimate Period

Work Began Date

October 3, 2022

Project Number	Line Number	Item Code	Item Description Unit Unit Price Current Installed Qty								
J6MAMD01	0020	3105002	GRAVEL (A) OR CRUSHED STONE (B)	GRAVEL (A) OR CRUSHED STONE (B) TONS \$430.500							
	0040	4071005	TACK COAT	GAL	\$4.000	3,980	\$15,920.00				
	0800	6169901	MISC.TEMPORARY TRAFFIC CONTROL	LS	\$40,000.000	0.95	\$38,000.00				
	0090	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN (CONTRACTOR FURNISHED AND RETAINED)	EA	\$2,000.000	3	\$6,000.00				
	0100	6181000	MOBILIZATION	LS	\$60,000.000	0.75	\$45,000.00				
	0140	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$1.420	1,051	\$1,492.42				
	5001	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	\$91.000	7,321.38	\$666,245.58				
	5002	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	TONS	\$195.000	76.47	\$14,911.65				
	5003	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	SQYD	\$13.710	257	\$3,523.47				
	5004	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	SQYD	\$25.500	257	\$6,553.50				
	5005	2129900	MISC.SHOULDER GRADING	IISC.SHOULDER GRADING 100F \$195.000 289							
Project J6MAMD01 - Total											
Overall - To	tal						\$859,167.62				

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Revision 4/1/2020 Page 1 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: October 17, 2022

Progress	Estima 1	te Number	Contract ID Prime Contracto	220520-F0 or N.B. West		ompany Pay Period End October 15, 2022 Ne	iginal Contra t Change Ord rrent Contra	der Amount S	\$12,060.41
Project Number	Line No.	Item D	Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6MAMD01	5001		DUS PAVEMENT PG64-22, (BP-1)	Other Item Adjustment	Asphalt Cement Price Adjustment				\$14,185.17
	5002		OUS PAVEMENT PG64-22 (BASE)	Overrun			-19.47	\$195.00	(\$3,796.65
	5002		DUS PAVEMENT PG64-22 (BASE)	Other Item Adjustment	Asphalt Cement Price Adjustment				\$176.84
	5003	FOR BA	R 5 AGGREGATE SE (4 IN. THICK) EMENT REPAIR)	Material			-257	\$13.71	(\$3,523.47
	5003	FOR BA	R 5 AGGREGATE SE (4 IN. THICK) EMENT REPAIR)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user mckinr1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	257	\$13.71	\$3,523.47
Total	,								\$10,565,36

Revision 4/1/2020 Page 2 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Informa	ation				
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work					
J6MAMD01		Pavement improvements	J	FRANKLIN	from Route J to the Franklin/Crawford County Line						
Γotals by Job	Numbers										
J6MAMD01					This Estimate	Previous	To Date				
	Posted				\$859,167.62	\$0.00	\$859,167.62				
	Gross It	em Adjustment		_	\$10,565.36	\$0.00	\$10,565.36				
		(Gross Ite	m Pay	\$869,732.98	\$0.00	\$869,732.98				
	Incentiv	е			\$0.00	\$0.00	\$0.00				
	Disince	ntive			\$0.00	\$0.00	\$0.00				
		ted Damages			\$0.00						
	Other C	ontract Adjustm	nents		\$0.00	\$0.00	\$0.00				

Revision 4/1/2020 Page 3 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J6MAMD01, Item 6131013, Project Item Line Number 5003, Material Set 613101396, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	I will discuss this exception with materials before next estimate.	mckinr1	Overridden
Estimate Exception Type: Item Overrun: Contract 220520-F06, Contract Project J6MAMD01, Project Item Line Number 5002, Contract Line Item Number 5002, Item 4013000, Minor Item.	This item will be addressed with future change order.	mckinr1	Acknowledged

Revision 4/1/2020 Page 4 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract .CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
520-F06	J6MAMD01	0001	0010	2129900	MISC.SHOULDER GRADING	289.00	-289.00	0.00	100F	0.00	\$130.00	\$0.0
		0001	0020	3105002	GRAVEL (A) OR CRUSHED STONE (B)	12.00	0.00	12.00	TONS	12.00	\$430.50	\$5,166.0
		0001	0030	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	3,206.40	-3,206.40	0.00	TONS	0.00	\$92.00	\$0.0
		0001	0040	4071005	TACK COAT	3,420.00	1,740.00	5,160.00	GAL	3,980.00	\$4.00	\$15,920.0
		0001	0050	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0.0
		0001	0060	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	2,712.30	-2,712.30	0.00	TONS	0.00	\$109.60	\$0.0
		0001	0070	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	16,277.60	-16,277.60	0.00	SQYD	0.00	\$8.05	\$0.0
		0001	0080	6169901	MISC.TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.95	\$40,000.00	\$38,000.0
		0001	0090	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN (CONTRACTOR FURNISHED AND RETAINED)	3.00	0.00	3.00	EA	3.00	\$2,000.00	\$6,000.0
		0001	0100	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.75	\$60,000.00	\$45,000.0
		0001	0110	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	22.00	0.00	22.00	LF	0.00	\$20.00	\$0.0
		0001	0120	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	27,821.00	0.00	27,821.00	LF	0.00	\$0.12	\$0.0
		0001	0130	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	27,966.00	0.00	27,966.00	LF	0.00	\$0.13	\$0.0
		0001	0140	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,051.00	0.00	1,051.00	SQYD	1,051.00	\$1.42	\$1,492.4
		0001	5001	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	0.00	7,565.00	7,565.00	TONS	7,321.38	\$91.00	\$666,245.5
		0001	5002	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	0.00	57.00	57.00	TONS	76.47	\$195.00	\$14,911.6
		0001	5003	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	0.00	257.00	257.00	SQYD	257.00	\$13.71	\$3,523.4
		0001	5004	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	0.00	257.00	257.00	SQYD	257.00	\$25.50	\$6,553.
		0001	5005	2129900	MISC.SHOULDER GRADING	0.00	289.00	289.00	100F	289.00	\$195.00	\$56,355.0
	Project J6M	AMD01 - To	otal Value	Posted to D	late as of Report Generated Date							\$859,167.
20-F06 Ove	erall - Total Va	lue Posted	to Date a	s of Report	Generated Date							\$859,167.

Revision 4/1/2020 Page 5 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J6MAMD01

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020	3105002	GRAVEL (A) OR CRUSHED STONE (B)	10/11/22	10/17/22	12.00	TONS	Rte. J LT & RT of CL	0.019		2.615		
0040	4071005	TACK COAT	10/4/22	10/13/22	1,019.00	GAL	RT of CL	0.028		2.607		Rte. J SB
			10/5/22	10/13/22	971.00	GAL	LT of CL	0.028		2.607		Rte. J NB
			10/7/22	10/13/22	1,019.00	GAL	RT of CL	0.000		2.636		2nd lift
			10/10/22	10/13/22	971.00	GAL	LT of CL	0.000		2.636		2nd lift
0080	6169901	MISC.	10/11/22	10/17/22	0.95	LS	LT & RT of CL	0.000		2.636		
0090	6169902	MISC. TRAFFIC CONTROL DEVICES	10/11/22	10/17/22	3.00	EA	Rte. J & Rte. H	0.000		2.636		Placed per RE Christine Redhage
0100	6181000	MOBILIZATION	10/11/22	10/17/22	0.75	LS		0.000		2.636		
0140	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	10/3/22	10/13/22	1,051.00	SQYD	LT & RT of CL	0.000		2.636		
5001	4011209	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	10/4/22	10/13/22	1,527.11	TONS	RT of CL	0.028		2.607		SB Rte. J
			10/5/22	10/13/22	1,747.70	TONS	LT of CL	0.028		2.607		NB Rte. J
			10/7/22	10/13/22	1,958.44	TONS	RT of CL	0.000		2.636		SB Rte. J
			10/10/22	10/13/22	2,088.13	TONS	LT of CL	0.000		2.636		2nd lift on Rte. J
5002	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BAS	10/3/22	10/13/22	76.47	TONS	LT & RT of CL	0.069		2.402		5 Repair locations Total
5003	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. TH	10/3/22	10/13/22	257.00	SQYD	LT & RT of CL	0.069		2.402		5 repair locations
5004	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVT REPAIR	10/3/22	10/13/22	257.00	SQYD	LT & RT of CL	0.069		2.402		
5005	2129900	MISC. SUBGRADING AND SHOULDERING	10/6/22	10/13/22	144.00	100F	LT & RT of CL	0.000		2.636		1st lift of MIsc. Shoulder Grading on Rte. J
			10/11/22	10/17/22	145.00	100F	LT & RT of CL	0.000		2.636		2nd lift of Misc. Shoulder Grading

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 4/1/2020 Page 6 of 7

Oct 20, 2022



Line Item Adjustments by Estimate

Contract ID:190215-D05

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6MAMD01	5001	BIT. PAVEMENT	Other Item Adjustment	ACAD	1	Oct 17, 2022	mckinr1	\$14,185.17	
		MIXTURE PG64-22		ACAD - Total				\$14,185.17	
		(BP-1)	Other Item /	Adjustment - Total				\$14,185.17	
	5001 -	- Total						\$14,185.17	
	5002	BITUMINOUS PAVEMENT MIXTURE	Other Item Adjustment	ACAD	1	Oct 17, 2022	mckinr1	\$176.84	
		PG64-22		ACAD - Tota	al			\$176.84	
		(BAS	Other Item /	Adjustment -	Total			\$176.84	
			Overrun	Overrun	1	Oct 17, 2022	SYSTEM	(\$3,796.65)	
				Overrun - T	otal			(\$3,796.65)	
			Overrun - T	otal				(\$3,796.65)	
	5002 -	- Total						(\$3,619.81)	
	5003	TYPE 1 OR 5 AGGREGATE FOR BASE (4	Material		1	Oct 17, 2022	SYSTEM	\$3,523.47	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user mckinr1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		IN. TH			1	Oct 17, 2022	SYSTEM	(\$3,523.47)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	5003 -	- Total						\$0.00	
J6MAMD01	- Total							\$10,565.36	
Overall - To	tal							\$10,565.36	